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1.  1342cm O HEDHEAREERQTIE 72K OWT, ROMICEZ K.
(SH27 258, A3 408, B 545, C#75)
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(2)  HEDoREBERICHESLZ & ZAD.
(3)  KmHZRD .

(4)  HHEZERD L.
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134 3cm DI JTIRDEAREERTE - 723K o0 T, ROMICEZ X.
(SHe2725%, A3 408, BH 549, CH74)
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13 2cm DV FKRDEAREERTE- 72 KIZOWT, XROMICEZ X.
(SH27 258, A3 408, B 545, C#75)

(1) HENEHET.

(2)  HEDoREBERICHESLZ & ZAD.
(3)  KmHZRD .

(4)  HHEZERD L.
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(1) Zzx-ERi~iii (2) FXx--ERiii

(3) i~iiiikEhEh, BER2S, Bh o, ENSBRIL LSRRI 20T, ME 2E Tl kv,
EAELEME 2x2=4cm? = R =4cm? x (10+11+11) 1 x 2 = 4cm? x 64 [ = 256 (cm?)

(4) IAEKEIMESIE 2x2x2=8cm?
X iii DR, i =8 cem® x (5+2+2+2+3+2+1+2+1+1)ffl =8 cm? x 21 {fl = 168 (cm?)
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134 3cm DI JTIRDEAREERTE - 723K o0 T, ROMICEZ X.
(SHe2725%, A3 408, BH 549, CH74)
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(3) i~ilikzhEh, ER»s, E2o, ErS6dFAILESICAZ DT, % 2 MG Thud k.
EAE 1EME 3x3=9cm? = RMEME =9 cm? x (11+11+12)ff x 2 =9 cm? x 68 [fi = 612 (cm?)

(4) IAEKIMESIE 3x3x3=27cm?
B iii OFEED 6, M =27 cm3 x (5+442+1+3+2+142+1+1+1) =27 cm?® x 23l = 621 (cm?)
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